
L = 5 meters 

∑Fx: N – Wx = 0 

∑Fy: f-Wy= 0 

Trig functions: 

Cos θ = Wx/W 

Sin θ = Wy/W 

Other formulas: 

F = (u)(N) 

W=mg 

Kinetic energy = Work = Force times distance 

Energy outputs: f, W 

Conservation of Energy: 

Efinal-Einitial = Eoutput-Einput 

Unknowns: 

Wx, Wy, Vi, N, W, M (mass) 

 



Find N:  

N – Wx = 0 

Find Wx: 

Sin θ = Wx/W 

Find W: 

Cos θ = Wy/W 

Find Wy: 

f – Wy = 0 

 

Solve each equation: 

Solve for Wy: 

W cos θ = Wy 

Solve for f: 

F = W cos θ 

Find N: 

W cos θ/U = N 

Find Wx: 

wx = W cos θ / U 

Find W: 

W = mg 

How do you find m?  

 

Possible to get formula through work equation? 

Force x distance? Force x length? Both? 

 

 


